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1 Without usingacalculator eval u@é" (3marks)
32 0f21+35+ 3~ 4%\%3%
s3x12-Soratig¥s
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«° 2. Find two consecutive even numberssuch that seven timesthesmaller is4 lessthan 6
timesthe greater. (3marks)

3. Solvefor x; 25¢*1-5%*+1=2500 4.(3marks)
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4. A seven sided polygon hastwo of itsi nterigs&gl es 140° and 160°; and theremaining angles
areequa. Find thesize of one of the quu@angl €s. (3marks)
2
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®5<< Inthefigurebelow AB isparadlel toDC. ThelinesAX and BY areperpendicular to

DC. Giventhat AD = 15cm, AB = 10cm, DX =9cm and BC = 13cm, calculate the

areaof trapezium ABCD. (3marks)
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6. Thediagram bel ow represents acube with faces marked as shown. Each of the opposite
faceto that shown on the diagram is marked with the same sign but in the reverse
direction to that shown on the diagram of the cube. On the net of the diagram only one
face hasbeenidentified withitssign. Identify each of theremaining faceswith the correct

sgn. (3marks)




7. A gear whichishaving 60teeth drives anotgfgr which has 64 teeth. Find how many times
each whedl must rotate before thetwo @h which aretogether one on each wheel

will betogether againin oneposti %@QJQ (3marks)
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8. Simplify a2 — 1 (3marks)
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0.

P(3,2) and Q(6, 5) aretwo verticesof a

e PQRSsuchthat R and Shave positive

co-ordinates. Determinethe coordi nat@?)f RandS.

(3marks)
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10.  Atrader markedashirt at Sh. 1400. He sol d@'h% shirt toacustomer after allowing him
adiscount of 10% . If thetrader made a@&}ﬂt of 25%, determine how much he had
Q

paidfor theshirt. &
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<° 11.  Asumof moneyisdivided amongthreegirlsA, BandCintheratio 18:16:11. If A
got Sh. 1841 morethan C, how much did each get?

12.  Iftana=% , without usingtablesor caculator, find;
Sina -cosa
cosa +Sna
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13.  Thelinesegmentjoining T(-5, 0) and S(lg,@%sperpendi culartothelinejoining P(4, 7)
and Q(8, ). Qrz?
(i) Findthevaueof y cf°® (2marks)
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{(Kee (ii) Find the coordinates of the point of intersection of theline segments. (2marks)
2
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14.  Themeanof nnumbersis15. If the same numberstogether with 20 have amean of 16,
findthevalueof n. (3marks)
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15.

A triangular pyramind PQRSiscut from Q@)rner of acubeof side20cm. Giventhat
PQ=PR=PS=12cm, find the volumegf the remaining solid.
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Inthefigurebelow BOC isthe diameter and angle BAC = 50°

Cdculae
@ angleBRC

(b) anglePBQ
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17.  Theinsideof arectangular hal r@@&sures 15mlong, 9mwideand 3m high. Thereare
three doors each measuring Z\mqby 2.2mand six windows each measuring 1.5m by
1.5m. Thewallsof theh eto bepainted.

@ Calculatethetotal areaof thewallsto be painted. (4marks)
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(b) To paint an areaof 2.5m? requiresonelitreof paint. If thepaintissoldin4litres
determinethe number of tinsof paint that should be bought. (3marks)

(© Thecost of a4 litretin of paintisKsh. 1700. The painter ispaid afixed charge of
Ksh. 2000 and K sh. 30 per square metre of thewall painted. Cal culate the total
cost of painting thewalls. (3marks)



Q
o
&6
18. Inthefigurebelow, O isthe centreof theci r@%%f radius2.5cm DOBPisastraight line
and isperpendicular tothechord AC at Ezﬂ_l neTPistangent tothecircleat A and angle

APD =50°.
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< @ Cdlculate, to 2 decima placesthelength of;
<« 0 O

i) AC

(b) Determinethesizeof;
(i) angleADC
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(i) angleACD \Q’b (2marks)
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A B,C istheimageof triangleA Bg@der trandationT. Find T.
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AB.C, istheimage of ABC under anegativerotation. Findtheangleand
centreof thiSrotation.

ThetriangleA B.C, with coordinates A (2, -3), B,(6,-3) and C (6, -1) is
theimageof ABC under areflectioninthelineL. Draw lineL and find the
equationof lineL.

Enlargetriangle ABC by scalefactor (-2) and and centre of enlargement (-2, 0).

State the coordinates of theimageA B,C,.

(Imark)

(4marks)

(3marks)

(2marks)
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20. ABCDisaparalelogramwith CB (_66)6\ D =( >) andpoint Cis(-5, 2).
Determing; &
(@  thecoordinatesof \l_&
@) B P (2marks)
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%@ i D (2marks)

2
&°
2
<
\\
&

i) A (2marks)
(b) thelength of thediagona AC (2marks)

(© Thepoint of intersection of thediagonalsAC and BD (2marks)
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21.  Completethetablebelow for the equati on‘\Q’z’Q
y=2x>+4 0@%
@ [x[1 [075[-05 |[-025¢%0 [025[05 [075 |1 [125[15[175]2
Y |6 45 oF |4 45 6 8.5 12 (2marks)
&
(b) Usethecompl g&ﬁbl eand themid-ordinaterulewith 6 stripsto estimatethe
areaboundeghoy thecurvey = 2x? + 4, thex-axisand thelinesx =-1and x = 2. (3marks)
A\
%
&
N
&
((/Q
&
2
&
2
N
\\
&
(© By intergrating the given function find theexact areain (b) above. (3marks)

(d) Hence calculateto 2 decimal placesthe percentage error inthe areaestimated by
themid-ordinaterule. (2marks)



22.  LineAB shownbelowisonesideof atri angFéABC inwhichAC =7cm, andangleBAC
=120°. Using apair of compassesand wer only.

@ CompletetriangleABC ogQJQ (2marks)
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(b) Onthesamediagram asin (a) above
(i) construct acirclethat touchesthesides of triangleABC. Measuretheradius
of thecircle. (3marks)

(ii) construct aperpendicular from C to meet BA produced at N. Measurethe
length of CN. (2marks)

(© Find theareaof theregioninthetriangleABC that liesoutsidethecircle. (3marks)
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23.

Two farmers Peter and Jamestook atotal Q\fﬁ beef cattlesfor saleat two different
dlaughter houses and each got the same ggaount from the sale. If Peter had sold at James

selling price he would have got Sh. 1@300 and if James had sold at Peter’s selling price
hewould havegot Sh.51,200. ¢

@ How many beef cattl egiﬁ’each taketothedaughter house? (6marks)
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N\ Q(a'
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(b) What wasthe buying price at thetwo daughter houses? (2marks)
(© If 6 of Peter’s cow died, find the percentage increase per cow he needed to

makein order to realisethe sameamount from the sale of theremainingcows.  (2marks)
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24. A closed cylinder hasbaseradiusr cm aQQ’PI%i ght hcm. Thetotal surfaceareais100cm?.
S
(@  Showthat r=> - r & (3marks)
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2 (b) Show that thevolumeVem?iisgiven by
@Q& V = 50r - 7tr® (2marks)
N
\\
&

(© Findthevaueof r which givesmaximumvaueof v (3marks)
(d) Find the maximum volumeof thecylinder. (2marks)

(Take 7 =3.142)
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